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Question Number : 1 Question Id : 9683555651 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The number of moles of hydrogen molecules required to produce 20 moles of
ammonia through Haber’s process

b (BB Troe 20 Erde eIMAEED a8)f Jahel eSIEHY
33@&35 VNI RSO dogy

Options :
1. % 40

, w10

30

Question Number : 2 Question Id : 9683555652 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a Bohr’s model of an atom. when an electron jumps from # =1 to 7 = 3. how much
energy will be emitted or absorbed?

8 H8Emm SdhrT ohodh QI@L:,;S n=1:&08 n=3
& BP83HE Jendh Sor 2ok e

Options :

2.389 x 107 ergs
2.389 x 107 2§

1. %

0.239 x 107 ergs
0.239 x 107" 28

2.15 x 107 ergs

215 % 107 26
3. = 0O



0.1936 = 107% ergs
0.1936 x 107 28

Question Number : 3 Question Id : 9683555653 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following sets has strongest tendency to form anions?
808 THE® BEPHODH DEDDHDHT pePd 58D 6.
Options :

Ga. N1, Tl

1. %

Na. Mg. Al

V. Cr. Mn
W

Question Number : 4 Question Id : 9683555654 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The hybridization of atomic orbitals of nitrogen in NO,", NO3™ and NHy ", respectively
No,*, No; $08c» NH,'® ohoth JE°=S Gw¥) $05558m0 S8
Options :

I
| % SP»sp andsp



Spj. 5p3 and sp

2 3
sp. sp” and sp

3.¢
spj. sp and 5p3

Question Number : 5 Question Id : 9683555655 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given van der Waals’ constant for NH3. Ha. Oz and CO» are respectively 4.17. 0.244.
1.36 and 3.59 then which one of the following gases 1s most easily liquefied?

NH, H, 0,%8c (00 srotbzd ool denden S 4.17,
0.244, 1.36 5805 3.59 0w TLE* D AW ©FoS LerIrr
5058209808,

Options :

CO,

Question Number : 6 Question Id : 9683555656 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Three moles of an 1deal gas expanded spontaneously into vacuum. The work done will be
3 3o @cﬁ{ﬁrg TO0Y @é’?‘b@ﬁom ré:mégoés& DXB0HDEIYH 280 I

Options :
infinite
1 % B080

3 Joules
3 ET&?_,
2. ®

9 Joules

25
- 9 )

Zero
P00
4.

Question Number : 7 Question Id : 9683555657 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following statements is not true?
Bod =06° 380 TPEL0
Options :

Among halide 1ons. 1odide 1s the most powerful reducing agent.

- PSS soirSe ohoh ‘I ©&od Fahiden Srgrdo Zeb

Fluorine 1s the only halogen that does not show a variable oxidation state,

. HFuSe ohoth F SRS DS @éﬁjﬁém ?géae;}f-.} (D805,
2.



HOC1 1s a stronger acid than HOBr.
HOBr %08 HOCI 20308 efpdx

HF 1s a stronger acid than HC1

4 HC %08 HF 203d epdn

Question Number : 8 Question Id : 9683555658 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The pair of compounds that can exist together

502 @06 JRFTre 2E HBoHEw.
Options :

FeCls. SnCl,
HgCl. SnCl;

3 @ FeCl,. SnCl»

FeCls. KI

Question Number : 9 Question Id : 9683555659 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following groups of ions makes the water hard?
Eod 2 edrSe T A SBRE Senrhib.

Options :



Sodinm and bicarbonate

R&ao Hdako BoesHIeT

Magnesium and chloride
Do 8ok TBE
2. ¢

Potassium and sulphate

P00 S8 ST

Ammeonium and chloride

©ITAIDo HBAED EBE
4, ®

Question Number : 10 Question Id : 9683555660 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Compared with the alkaline earth metals. the alkali metals exhibit

8 5983 SHF08 PORIHED T8 & Fen S So%R) (Be5G)=0w

Options :

smaller 1onic radit

SEND ©airdE TgRrgo
@

1. %

highest boiling points

0% 8\3ISS Fren
2. % " @

greater hardness

- ©HT =BRS

4.+



lower 1onization energies
S50 wahlEBe $5)0

Question Number : 11 Question Id : 9683555661 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following metal ions play an important role in muscle contraction?

Bob THE® Q E% worS Sokitre SoB SN SoarDs g LoD

Options :

Question Number : 12 Question Id : 9683555662 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following compound 1s used in cosmetic surgery?
RPOsY; 45 DBES® AB@RK HESD
Options :

Silica

| » 0=



Silicates

28Ty
2. %

Silicones

20858
3. %

Zeolites
ﬁfﬁﬁﬁ'@m
4. %

Question Number : 13 Question Id : 9683555663 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following will undergo aldol condensation

S Jo(iden S50 FEP
Options :

, » HCHO

5 @ CH3CHO

. » CeHsCHO

CCI:CHO
4. %

Question Number : 14 Question Id : 9683555664 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The coupling between base units of DNA

DNA &°9 SToPO S0 S0G ereD

Options :

Vander Waals forces
oS meren

Electrostatic attractions

DT EB L Deen
2. S o el

Covalent bonding

HPoBDraOH DomEen
3. %

Hydrogen bonding
&S vomee
4.

Question Number : 15 Question Id : 9683555665 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The correct order of relative acidic strength of phenol. ethyl alcohol and water 15
HTS, 33 woiES S8 AheDH SonoBodd KBFES efmere o

Options :

Phenol = Water = ethyl alcohol
LSS > A% > 23S weiFS
1.¢

ethyl alcohol = Phenol = Water
335 wopFs > H3ES > %
2. %



Phenol = ethyl alcohol = Water
$ 58S > 386 wOiFES > AW

Water = Phenol = ethyl alcohol
D% >5HSS > 386 wOiFES
4. %

Question Number : 16 Question Id : 9683555666 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following metal has simple cubic arrangement
808 AE° DB S Do ©BED 5D eoHiD.
Options:

1 % Na

u
Ti

Po

Question Number : 17 Question Id : 9683555667 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

2 gms of NaOH per 250 ml of solution 1s added to a buffer solution of buffer
capacity 0.2 then the change in pH 1s

238 o 0.2 o 250 0.9, 258 (TS0l 2 (rrdwe NaOH
50039 pHE® Sr8)) Jo8?



Options :

0.5
1. #

|
2.9

15
3. %

2
4, %

Question Number : 18 Question Id : 9683555668 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following gas depletes Ozone layer

B0B TES® LES I8 EadH SEHRHD

Options :

SO»

1. #

CO,

CO

NO

Question Number : 19 Question Id : 9683555669 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Malch the lollowing

2385558000
: List —II
List —1 P
585 - 1 . Al
]
a) Be 1) lreatment of cancer
526 Dardes
11)  Extraction of metals
b}  Mas &85 Bosee
iii) Incendiary bombs and signals
g Te5S crrotnen HBGSH YoSmee
a) Ra ) Windows ot X-Ravy tube
X- Ravy éaersS Ty oeroren
- Lo %=p o
V) Bearings for motor Engines
<S¢l moms Jdof) SO
Options:

a-1v.b-111.c-11.d-1
1.¢

a-111.b-1v.c-11.d-v

2. %

a-1v.b-i1i.c-1.d-i1
3. %

a-111.b-1v.c-v.d-11
4, %

Question Number : 20 Question Id : 9683555670 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Assertion (A): Efficiency of the reverboratory furnace is less

Toas (A) : B5G000 T°OM Tt KES SN

Reason(R): Hot gases produced in reverboratory furnace are not recycled

5800 (R): 855666 FONE*D 38 sromPod SBabore &S
Options :
Both A and R are true. R explain A

A 58050 RIBGDD, R, A SBGS 558
1.4

Both A and R are true but R do not explain A
A SHBdim RIBAID, R, A D I8 DA8es oo

2. %

A 15 true R 1s false

A ﬁfb@:}ﬁ& =10y Rﬁﬁ@a?ﬁﬁa =oi0
3. %

A 1s false R 1s true

A ﬁ@@a'ﬁﬁ& =o50 Rﬁﬁﬁ@a?@&
4, %

Question Number : 21 Question Id : 9683555671 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which oxides shows paramagnetic property
TFO° @008 cﬁmﬂéﬂé_ S oG
g e
Options :

1% Na>O

S10»
2. %



MnzO4

Question Number : 22 Question Id : 9683555672 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following cannot act as a Lewis base
Bod TS B erond SP8ER) (58580588
Options:
CIF;3

PCls

SF4

NEF;
4. %

Question Number : 23 Question Id : 9683555673 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Vitamin By contains

D8I By,N0th 60tHd8

Options:



Fe(I)

Co(1II)
2.¢

. Zn(1II)

4 % Mn(III)

Question Number : 24 Question Id : 9683555674 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Phenol heated with CHCI3 and aqueous KOH and produced salicylaldehyde. This
reaction 1s known as

CHCI, 508050 (%)% KOHS® S I6uv3H0 S86° rdberdirs
B (BB o,
Options :

Rosenmund’s reaction

| » O w08 <585

Reimer-Tiemann reaction

B25-E50S S
2. ¢ =

Friedal-Crafts reaction

5 sl e
. PES-E°R S

Sommelt reaction

S S8
& =



Question Number : 25 Question Id : 9683555675 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Lucas reagent is

eNTPR SPE50 T
Options:

conc. HCI and anhydrous ZnCl;
e HClS8a5» anhydrous ZnCl,

1.4

conc. HNO3 and hydrous ZnCl»
et HNO, 080 hydrous ZnCl,

conc. HCI and hydrous ZnCl,

et HClS08as hydrous ZnCl,

conc. HNO; and anhydrous ZnCl,

et HNO,S80%0 anhydrous ZnCl,
4, %

Question Number : 26 Question Id : 9683555676 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following molecule has the highest bond order?
Bod Q& ©bE oBEHSL Sed

Options :



Question Number : 27 Question Id : 9683555677 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Root mean square velocity of a gas molecule is proportional to

TOD ®e) BwE) Sre Sk SBEH Iko &S S STS
(S0 @otwod.

Options :

11

Question Number : 28 Question Id : 9683555678 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Unit of entropy is
OIS Tos) (PDdeeaeen
Options :

JK'I 1111:-1'1
1. ¢

1
5 % J mol

J'1 K'1 mol 1
3. %

JK 111::\1'1

Question Number : 29 Question Id : 9683555679 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Oxidation state of Cr in CrOs1s
CrO,d0% ‘Cr cfmﬁ; @%ﬁét& ﬁogo;

Options :
-6

1. %

, % +12

+6
3.¢



Question Number : 30 Question Id : 9683555680 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Kjeldahl’s method 1s used in the estimation of

208 =RS° BV wosTe Iaedh BSTS HFBY GBBPALL.

Options :

Nitrogen

« S(¢P=S

Halogens
, Fouden

Sulphur
Senb

Oxygen
5
IS

Question Number : 31 Question Id : 9683555681 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The IUPAC name of (CH;3),CH-CH>-CH»Br 1s
(CHE)ECH-CHE-CHEBI‘ {ﬁ:‘cﬁg [UPAC =300

Options :

1-bromo-3-methylbutane

. 1-(&5°3m -3 - DFS o BS

2-methyl-3-bromopropane

2-WBS -3 (T IR@F DI



1-bromopentane

1-(5°3> 208

2-methyl-4-bromobutane
2-0@S-4-(F°3oe 20l

Question Number : 32 Question Id : 9683555682 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following amine will give the carbylamine test?
Bod TAE* DB THE oS HEED B

Options :
Aniline

o
1. & @m@\s

N-methylaniline

N - 086 003

N.N-dimethylaniline

N, N- g 23S ©08

N-ethylaniline

N - 336 @03
4. %

Question Number : 33 Question Id : 9683555683 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Choose the correct order of strength of the carboxylic acids

BotS 333,288 crond)BE elpey JI8GHI B0 LY.

COOH COOH COOH
7 (Y 5T

O
I Il I

Options :
I=1T=H

1. &

T =TI =1
2. ¥

Oi>11>1

MI=>1>=1II
£

Question Number : 34 Question Id : 9683555684 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following reaction. The product A 1s

Shaalaty 380508 BP0 ‘A’ & HBoUod.

COCI
H
£ - A
Pd—BESC’4
Options :
1 ¢ CsHsCHO
CsHsOH

2. %



CsHsCOCH;3

3. %
CsH5C1

4. %

PHYSICS
Section Id : 96835575
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 33
Number of Questions to be attempted : 33
Section Marks : 33
Enable Mark as Answered Mark for Review and
Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 96835599
Question Shuffling Allowed : Yes

Question Number : 35 Question Id : 9683555685 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The unit vector in the direction of vector i+2j-3k is
1+2]-3k 90 B o), B3 Havres DO
Options :

i+2j-3k
1. % 3



2. V14
— {273k
3 % Via
i+2j-3k
4 % V10

Question Number : 36 Question Id : 9683555686 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A body 1s dropped from a Height 20m. If its mass 1s 1kg, then 1ts momentum just before
hitting ground is (g=10m/s?)
18,7 30§03 SRR 0 20 ). D60 200E BPEDED LIEIA. O TFEA0E T°)

B (g=100/08:07)
Options :

1 % 40kg-m/s

30kg-m/s

20kg-m/s

10kg-m/s
4. %

Question Number : 37 Question Id : 9683555687 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A force of (3{+2j+5k)N displaced a body of mass 100g froma point A(1m.2m.1m) to
point B(2m.3m.2m) then work done by that force 1s
100 rawe GOO°3 (10 &8 SR (31+2]+5 k)N e200Docapy A(1m.2m, 1m) #ood

Docay B(2m.3m.2m) H65 g%goao DoB0c)HE. e e00 H©) @A) DA

Options :

1« 10Joule

5 w 3 Joule

_— 8 Joule

4 % 2 Joule

Question Number : 38 Question Id : 9683555688 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Inn a perfect elastic collision.
28 PDONBRD Ec%@ Quag esd)aTredoes”

Options :

Onlv momentum is conserved

(D10 gD f%{ion“ &otod
1. %

Only kinetic energy is conserved

, % ridad Ix}“@iﬁ%tﬁmﬁ&om&n

Momentum is conserved and kinetic energy is not conserved

GBOFDI0 Q00T &0 (TS DOOTF &0
3 W% L o



Both Momentum and kinetic energy are conserved

G0 SOOI (13FS ToC 00
4.9 "

Question Number : 39 Question Id : 9683555689 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Angular Displacement of a particle moving in a circular path 1s given by
O=t+t24+t+1(0 1s in radian and ‘t’ 1s time in second). Its angular Velocity after 2
seconds 1s (In rad/s)

DTE0 DS0ES” BBoII) 2,8 S0 Y S'rdow Fdgoso O=F+Htt] (O Feans ves’

0001 T 1! DEDES” HfEeSoeCTon) 2 DEW0 BETS & Seo Erdan Dito
(BEond /280 0es)

Options :

1. % 14

Question Number : 40 Question Id : 9683555690 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Acceleration due to gravity on moon'’s surface 1s 1.67 m/S21f the radius of the moon is
1.74x108m, then the mass of the moon is nearly
Soghe &DBE00R B 8100 1.67 /DS dognct a"éﬂ“gn 1.74x106 20, e90008 2ot
odC G0

Options :



1« 1.6x10%2kg
5 % 8.4x10VPkg
3 % 4x10°%g

4 % 2x10%kg

Question Number : 41 Question Id : 9683555691 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In an experiment for determining surface tension of water by capillary tube method. a capillary
tube of diameter 10 m is used. Water rises to a height of 0.03 m in capillary tube. Then the
surface tension of water is (g=9.8m/S% density of water=1000kg/m®, angle of contact=10°)

53305 DA foE) A BSOS Dewd AgFdoch oo 10? kg arfo o 3TarIsd

ED0IPRODR, 893D 4eS A 0.03 DA DALY JEFEIR. 960 D ) B8
(2=9.8ut/pg0?, D Foge = 1000 &.r/ubdy, K}D(ﬁﬁe&o:()" )

Options:
1. % 87x10-3 N/m

> % 67x10°N/m
3 ¢ 13.5%10°N/m

98x10-3N/m
4. %

Question Number : 42 Question Id : 9683555692 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

When a sound wave travels from one medium to another medium .the quantity that will
not change 1s

w8 {:’)5.'4'} €900(10 2,8 0P80 AV0C. a0F'E 0153 DO, {U"{‘_D:] DOC FAETD

Options :
Frequency

- il‘é:@.{mﬁo

Wavelength

&Aoo 20 0
2. % =y

Velocity
Felale

Amplitude
020/ 22003

Question Number : 43 Question Id : 9683555693 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The displacement of a particle in simple harmonic motionis given by Y=10Sin [6t+r/3].
[y 1s in meters and t1s i seconds]. Then nitial displacement and initial velocity of the

particle are respectively.
ROV IPTPE) & 5008 R 8 Eeso gwﬁ@oao Y=10Sin [6t+71/3]. [y Doeases”, tgades*

SfgoSomecron). es5mo FD gna@,oao S0BaID &' Dricnven ST

Options:

1.4 5 Y3m.30m/s

> % 15m.5V3m/s



3 % 15V3m.3m/s

4 % 20W3m.40m/s

Question Number : 44 Question Id : 9683555694 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

One mole of an 1deal gas at 127° C expands isothermally until its volume is doubled. The
amount of work done and heat absorbed are respectively (log.2=0.693)

127°C efg‘g@ DI WE AT 60T LR DOAFEO D eggw@m (Isothermal
Process) &qoe 8802 S0DRGHE. & 2300e5” 20RD D B (FaroeEH EFERD HORTT
(log, 2=0.693)

Options:

1.« 2.3x10%oule .2.3x10%0ule
> % 1.2x10%joule .3.2x107 joule

3 x 6.5x10%joule. 1.4x10? joule

n 1.1x102joule .1.1x10? joule

Question Number : 45 Question Id : 9683555695 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



An ideal gas absorbs 100kcal of heat and expands from an initial volume 10m® to a
volume 10.2 m? at constant pressure 1 06N/m? Then the change in internal energy of the

gas 1s (1calorie=4.2 joule)
2,8 63050y ey 100 865° sipbe 63188 (arocng™ 108N/m? 96 o 96 10m3nasodireo

Aooc 10.2 mP s0anfarnandth mﬁéﬁcﬁo D00, &8 7050 A0, @oag@ag (Internal energy

5D Aredy (19‘»]3&6:4.2 &)

Options :

1 v 2.2x10%oule

5 % 1.5x 104%oule
3 % 5x109joule

4 = 4x107 joule

Question Number : 46 Question Id : 9683555696 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Zeroth law of thermodynamics 1s related to

€ 306 785" BPd) EHANE DS D020BODHA..

Options :

Heat

£a)0
1. % E

Work
, % O

Temperature
ST e
3. v =



Internal energy

4 % 0B0H3S

Question Number : 47 Question Id : 9683555697 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

%
%

A spring of force constant 400N/m is fixed to a rigid wall and a block of mass 1 kgis
attached to the other end of the spring. The horizontal surface is smooth. Block 1s pulled

sideways to a distance of 2 cm and released. The frequency of oscillation 1s (nearly)
400N/m e goroso 5B 2,8 Myorb s B Sycorr Hioccdd. oo Bocs §ddo 1kg g3

(10 B20) £ Do, £ DI0B6 B0 I &) B, Bdoy 2 cm PG oo E0d
35“&:‘&)_)&‘)50 (r0a30°00rT)

Options :
1. % 1.6Hz

2. % 4 Hz

5 v 3.2Hz

Question Number : 48 Question Id : 9683555698 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The dimensional formula of ratio of torque to angular momentum 1s
220 P00 A Eedah G0 ePHoddS Dy DG 03nE), Do o er

Options:
1.4 M1

2. % MPLT®
3 % MAL3T?

4 » MOLCT!

Question Number : 49 Question Id : 9683555699 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Refractive index of glass with respect to vacuum s 3/2 and that of diamond with respect
to vacuum is 2. Then refractive index of diamond with respect to glass is
AP OITRIE0 G- T2 S oeato 3/2. EARN (O caaguﬁa@n SSI et 2. e ca;grls

D0 HEHIN ko
Options :
1 . W 3.-'Ir4

2. % 3
3. o 4]].*3

4 . % 3 12

Question Number : 50 Question Id : 9683555700 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A
L/
7 Y
7
F 4 // 23

d / d

A point charge q is placed at height ‘a’above the center of square frame of side length 2 a” as

shown in figure. The electric flux through the square frame 1s
2 a' P EDAD 2,8 OGS0 ©580 Sogio dvod ‘a' e 2 Dot e300 ' EotIRENA.

SAOFS0 50 GO B0 DB esdararo
Options :
1. % /%

2 % q/4ep
3.v q/6%

4. % 9/2%

Question Number : 51 Question Id : 9683555701 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Two sound waves having frequencies 109Hz and 11 1Hz mterfere with each other. Then
the number of beats heard m 3 seconds 1s
109Hz s08030 111Hz 2F::apnaesen S0 doth cﬁs&’) ed0oTren) QSQQGEBOQO&FK?GD. BRDE) 35N

.;3?553@6“ DIDTB DY0STRODODS

Options :
1.¢ 6

I



Question Number : 52 Question Id : 9683555702 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A magnetic nole of pole strength 3A-m 1s placed in a uniform magnetic field of Induction
6x10- Tesla. Then the force experienced by the pole is

63107 Tesla Hoe 330 £DAD 2.8 568 300,06 2630 Hocy 3A-m GeQ0 $BF 0F00
(390 E:0cIICHA. LIONDE €3 C3y02) HABOIV 200
Options :

1. % 6x103N
2 « 18x10-N
3 % 9%10-3N

4 x 12x10°N

Question Number : 53 Question Id : 9683555703 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A light ray 1s travelling from glass to water. Refractive index of glass 1s 3/2 and that of
water 1s 4/3. The Critical angle for this pair of media 1s
2,8 57083 800 22 Aol eI DS DBV B Tre 9583299 (DEa%0 3/2 £0H010 D DS

(D350 4/3. € QLIPS a0 030G, Dob( 80

Options :

1. % Sm1(2/3)



> % Sm(3/4)

3 & Cos'(8/9)

4 Sin-'(8/9)

Question Number : 54 Question Id : 9683555704 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A parallel plate capacitor of capacity 5 puF is charged up to a potential of 10 V and
disconnected from the battery. The space between ifs plates 1s completely filled with a
dielectric of dielectric constant 3. The charge on the capacitor is
5 uF 32rRe 5D0% 28 2areshd Hede Sarond &0 10 VRGN £ e3¢0 S0 & Da & DExd

apto(battery) Aod DO IDTW. SFHLE DL a){;‘)éa_wf' Q5T wsBos DEPgo (E'cs oedo3)
& JPBODRTED. B0 PRV edd0
Options :

1 % 100 pe

5 @ 50 pe

25 uc
3 %

4 % 75 uc

Question Number : 55 Question Id : 9683555705 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ci=epF  Ca=3pF Ca=2pF

+| =
|I

E=12v

In the above circuit. the potential drop across 3 puF capacitor is
DI BFDLAD DEB D00 3 PF 3arbes D TF'BJae rdo.

Options :

w6V

2V

3¢ 4V

1V

Question Number : 56 Question Id : 9683555706 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

I

(Ampere

60°

Vivelts) —s

Current (I)-Voltage (V) graph of a conducting wire is shown. The resistance of the wire is
28 DB T Brs g, D (1) - £ga (V) grep Sronc.36. e Heigd 28 o

Options :

1
1.&"’@9



Question Number : 57 Question Id : 9683555707 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In Hydrogen spectrum, in Lymann Series, the maximum wavelength of emitted spectral
line is (R 1s Rydberg Constant)

TERO 008D T IS’ DewHE 10 B001BG0 (R-BE 2§ 0ro%o)

= & =t 6 ne

Options :

Question Number : 58 Question Id : 9683555708 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

An electromagnetic radiation of wavelength 4000°A 1s incident on a metal plate of work
function 1.1eV. Then the stopping potential is (nearly) (h=6.6 X10-34]-S)

1.1eV 52 pavabo e e e nedn 4000 °A 80030 (10 DEYBAIRFY, 080 D300 DO

Do DB'GE TFe3Yates (stopping potential) Desd (odrcore) (h=6.6 x10-4]-S)

Options :

| o 2 Volt

5 % 0.5 Volt

3 % 3 Volt

0.1 Volt
4, %

Question Number : 59 Question Id : 9683555709 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If the energy released in the fission of the one Uranium-235(5,U%) nucleus is 200 MeV.,
then the energy released in the fission lmgof U 1s

(Avogadro number =6x10%)
28 audane -235(9U) Zogs DiNABoHAS 200 MeV 38 D600, 2,8 Dodran U
EJJ)')@ aﬁﬁé@n}ﬁ.} DEGOMD S (P_‘)&jﬁug “‘,\)OQJISGX 1 013)

Options :

5.106x102%M eV
1.¢

5 % 7.12x1020%MeV

3 % 10.72x10®°MeV



8.75x108%MeV
4. %

Question Number : 60 Question Id : 9683555710 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

.Focal Length of a convex lens is 10cm. An obiect s placed at a distance of 20cm from the

lens. then the image distance from lens 1s
28 £yoerse0 €680 maygo@tﬁo 10cm. 6o ooc 20cm Grdoes” 2.8 V) =TRTATA S TAECAL N Tl

2e3oe) ArG0

Options :

1 % 5 cm

> % 30 cm

20 cm

4. % 10 cm

Question Number : 61 Question Id : 9683555711 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
. The 1= overtone frequency of an open pipe of length 20 cm is equal to 224 overtone

frequency of a closed pipe. Then the length of closed pipe 1s
20cm P rie BOD (720 (open pipe) D 00 il“é:@éﬁo DO 2 (70 Bockad

00 éﬁ“&)::@jmébé RRASRAS 2PR T80 TEED)

Options :



20 cm

10cm

Question Number : 62 Question Id : 9683555712 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The deviation produced by a small angled prism of an angle 4° and refractive index 1.5 1s
w8 enER D0 H325% (g 1.5 Ba DS B0 4°. esdi%0 (o 2800 T0d $0to0

308 DE8'e0 (Angle of deviation)

Options :

1.¢ 2°

2, % 1°

3, % 4°

4, % °

Question Number : 63 Question Id : 9683555713 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



[he angular momentum of electron in second excited state of Hydrogen atom is
PER DoATES Jobl ee;fgaa.?gaej‘ A0 JOFe Erdab Gagdrio

Options :
3h
1.4 20

H3 =

Question Number : 64 Question Id : 9683555714 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The ionisation potential of electron in the first excited state of Hydrogen atoms 1s
TEBODOTEDDS W06 EBRJBS” 200 JOFUD I, DS TS

Options :

- 2 Volt

, v 34 Volt

1.6 Volt
3. %

4« 5 Volt



Question Number : 65 Question Id : 9683555715 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following phenomena approves transverse nature of light waves?

& 300 artdes” D csAGI0M0 S0 BGorTe AG(E DErar) DTBB?

Options :

Interference
ﬁéﬁSGmo

Diffraction
5 % Qaaddo

Polarisation
(3ye)E30

Reflection
DT"2dN0

Question Number : 66 Question Id : 9683555716 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Identifv the Diodes through which current passes
2 COIrE 065" DEYH Do B DB

-10v I: 5V

D1
ov = 5V
-3V [ 2
D3 4v
10V [
D4 L
Options :
only D1.D2
SSwo D1.D2
1. %
only D3
S D3
2 %
All Diodes
@:};l [~V idot
3. %

only D3.D4

&500 D3.D4
4. ¢

Question Number : 67 Question Id : 9683555717 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



W——|
100 200
SuF
40v Sk
Al

| |
The charge on 15 pF capacitor in steady state 1s
SO %d@é *'?393 (Steady State)es” &) QD 15 pF Sarntd D esago.

Options :

150 pe
1.4
5 % 60 ne
3 % 120 pc

300 pe
4. ®

PART B

Group Number: 2
Group Id : 96835555
Group Maximum Duration : 0
Group Minimum Duration : 90
Show Attended Group?: Yes
Edit Attended Group?: Yes
Break time : 0
Group Marks : 33

Is this Group for Examiner? : No



MATHEMATICS

Section Id : 96835576
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Question Shuffling Allowed : Yes

Question Number : 68 Question Id : 9683555718 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

1 x x° ]
flx)=lx x* 1|=f4|=
x2 1 x
Options :
-8
1.2,5
2.«/'9
9



Question Number : 69 Question Id : 9683555719 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

It a, B, y are the rots of the equation »* 4 1 ~6x+3=0 then o™+ g +7' =

Pyt -6r+3=0 Q8 Somved a0, 7 008 7 4 4y =

Options :

Question Number : 70 Question Id : 9683555720 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If 1-./2 is aroot of the equation x* 4+ 2 +px+1=0 thenb =

¥ tax! +bx+1=0 68 D8PR8 |_ ) 2% drwo owd, b =
Options:

1% 4



Question Number : 71 Question Id : 9683555721 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If tan 20°, tan 25° are the roots of the equation 2 4 g+ 5 = then a-b+2=

tan 20°,tan 25° €0 % 4 gy + b= €0 @R S0 Bt HPerB, a-bt2=

Options :

1.v 1

Question Number : 72 Question Id : 9683555722 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



xt—x+1 :
- is
X" +x+1

If x is real, then the maximum value of f(x)=

xl—x+]
P +x+1

x TS Sogyg vad, | (x)= ci'tné& ﬁ@g e

Options :

1.% 2
2.v 3
3 = 4

5% 9

Question Number : 73 Question Id : 9683555723 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The number of six digit numbers such that the sum of digits is odd is

woSe ndo a8 B Hogg edstyrr o wb @08y Sogw Hosg
Options :

. +2,70,00
, «3,60,000
. . 4,50,000

4.« 9,40,000



Question Number : 74 Question Id : 9683555724 Question Type

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

1 1 1 1

- + - +
Ix2 2x3 3x4 4XS5

Options :

2
.« 2log, -2
2
, « 2log,+1
3.J210g3-1

.« 2log?

: MCQ Option Shuffling : Yes Is

Question Number : 75 Question Id : 9683555725 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ifsin 21, xe(0,) then the number of solutions of 148in y+sin? x + Sin’x+ ... =442

i 1, xe(0.r) oY, s xtsintx #8804 244243 (08) samepy vogg

Options:

1.% 9
2. % 4

3.%3

4.v2



Question Number : 76 Question Id : 9683555726 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Tan"2+Tan"' 3 =

Options :

Question Number : 77 Question Id : 9683555727 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
otanhx=3 = 45tanh 3x =

Options:



66

4, ®

Question Number : 78 Question Id : 9683555728 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ina A4BC, under usual notations, 2R+r=r, then /4=

TE6* %) e Sbor, a8 AABCE 2R+r=r, 6O 1=
Options :

30°

1. %

45°

2. %

60°

3. %

90°

4. &

Question Number : 79 Question Id : 9683555729 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
If.ina AABC, o*,p°¢* arein arithmetic progression, then tanA, tan B, tan C are in

28 MBCE o' b c'en wosRhE’ 415 tan A, tanB, tan Cen 408 (@

Options :

1. #



Arithmetic Progression

WOl B

Geometric Progression

. oo

2.

Harmonic Progression

oS (38

3. ¢

Arnthmetico-geometric progression

i oY ﬁ:eﬂfﬁ&.

4.

Question Number : 80 Question Id : 9683555730 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ifaand b are two complex numbers such that o+ =|a + i, then arga-argb =

+1f eyt Botb 0B Kougen a,be arga-argh =

o+b{=a
Options :

0

1.4

i
4



Question Number : 81 Question Id : 9683555731 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If |ﬂ + 1| ™ |ﬂ & l| = % then the least value of 8 [a| IS

3
!a+l‘—|a—ll=5 RODRDID, 8|a|&b:§37§33g 2NN

Options :

Question Number : 82 Question Id : 9683555732 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



[x'sinx dr = 2 +ksin(1)+Cos (1) = k=

0

Options :

Question Number : 83 Question Id : 9683555733 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

lim 6x —3sin2x _

x={ 3

X

Options :



Question Number : 84 Question Id : 9683555734 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

d [ (f(x+ﬁx)—2f(x)+f(x-ﬂx)]]=

dr Ar—i} .rﬂlx 2

Options :

)

1.

. - Y(x)
. SM(x)
R A t)

Question Number : 85 Question Id : 9683555735 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The area (in square units) bounded by the curves y = xjand y=x"is

y=| Bty y=r &R gl St Frep (1569 e s?)

Options :

1
2



| —

wn | —

Question Number : 86 Question Id : 9683555736 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The value of x atwhich f (x)= x(1-2x)e ™ altains its maximum is

xlﬁl)é&:} HISIVEY f (x): x(] —2,1:)9 I 38 ﬁ&% Devsd Do,

Options:

[s



Question Number : 87 Question Id : 9683555737 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The equation of normal to the curve 3x* - 2xy+y* =2 at p(l,l) is

W -2y ey’ =2 o Sgop plL,1) DodH B’JQ odooaty NaEdeso

Options :

L% y=3x=-2

- Yi=2%—1

3 % x=1
y:l

4.+

Question Number : 88 Question Id : 9683555738 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



i P(A)=%, P(B)= %cmd P(4nB)= % then P(Hm]é):

(Here P(A), denates the probability of the event A)

1 SN
P(A)j, P(B]% Srdam P(Aﬁ3)= E@wé@éap[AnB]z

Options :
11
.20

1. %

Question Number : 89 Question Id : 9683555739 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If two numbers are chosen at random from the set {1, 2, 3, 4, 5}, then the probability that the
smaller of the two in less than 3, is

598 1,2, 34,5}, 08 Bt dowyed cireore ol @ Boob i) omy 3 8
R @cﬂgotﬁné Hogrigs



Options :

Lh | b2

|

Question Number : 90 Question Id : 9683555740 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Four fair coins are tossed. Then the probability that two heads and two tails appear is

e dapds FEO% VOG0, 8Hk Totd £y, Botd &FERbe S8 Nogripd

Options :

3

8

1.9



Question Number : 91 Question Id : 9683555741 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Abox contains 3 black 4 red and 5 white balls. Three balls are drawn at random. Then the
probability that the draw contains no whilg ball s

258 33@@35 3 59, 4 G0 o § By wohen g0, B ok el podend wde)ibéom
39, i oo B0 86 8ol noden ES0NRIR Koy

Options :



Question Number : 92 Question Id : 9683555742 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The equation 2x* +3y* —8x 18y +29 =0 represents

2x% +3y) —8x 18y +29 =0 &3 $dEBmo QoD
Options :

a circle

. ek

a hyperbola
2.8 @8 Sordecho

an ellipse

| o8 5580

a parabola

L 2.8 e

Question Number : 93 Question Id : 9683555743 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The eccentricity of the hyperbola x* -2y° =1

x? -2yt =] 83 edloeHecho GnY) &Eﬁ&o@ﬁé

Options :

&5

| W

b | ~d

N
2

4. %

Question Number : 94 Question Id : 9683555744 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The focus of the parabola x> —4x-4y-8=0

¥ —4x -4y -8=0 &3 SorSocho S T

Options :

- (2, -2)



(-2,2)
@2

(2.2

4. ®

Question Number : 95 Question Id : 9683555745 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The number of common tangents of the Circles x” + 7 =4 and x” + y* - 2-4p-8=0is

g 145" =400 14y’ -2e-dy-8=0 o iyl Kgégﬁmea o8y
Options :

1

Question Number : 96 Question Id : 9683555746 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Aline L has slope 1 and passes through the point (2, 3) The the sum of squares of intercepts
mode by L with the axes is

smey 17 o % {5 L o0 B (2, 3) thor SR, €306 L e AGPT w0ds
5o depe i

Options :

Question Number : 97 Question Id : 9683555747 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The unit vector opposite in the direction of the vector - j + k is

508 =74k b 00y B &) dards 53

Options:

i -
B

T




3
3. %
i+ i+k
13
4. %

Question Number : 98 Question Id : 9683555748 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
=342}, b=3]-4k and ¢ =15/ -2 +16F the =
a=3142) b=3j-4k S0 ¢ _15i_2j4 16k OWIHD ¢

Options :

5a-2b



Question Number : 99 Question Id : 9683555749 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

-+ =+ 9 3 4 9

Three vectors 8, b, ¢ safisfy a +b +¢= 0

-
(=

e I T T R

b 3. thena.b+ b.c+c.a=

2 and

S 5 2 i

St 7 asbee=d o=l -

zﬂeaé: & e

J&J 4% 49 99

€W g b4 boteg=

Options :

Question Number : 100 Question Id : 9683555750 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If 9 is the angle between any two diagonals of a cube, then cos =

8 $ii08° &30 Both Mere D o § waNSHL cos g=

Options :

1. %



| =

]
, o 2
1
3. 3
1
i x 6
BIOLOGY
Section Id : 96835577
Section Number : 2
Section type : Online
Mandatory or Optional : Optional
Number of Questions : 33
Number of Questions to be attempted : 33
Section Marks : 33
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 968355101
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9683555751 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Simple form of carbohydrate is
6 5 L P
50 i TGS (8), T BEEr 0

Options :

Carbon

- S“ﬁgqﬁ

Starch

, % T6

Monosaccharide

ArSTE0E
3.¢

Cane sugar

(e ©58).6
4. % b

Question Number : 102 Question Id : 9683555752 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fehling solution is used for detection of
(0BT ool TrIET) GDATAT D

Options :

1. %



Glucose

ar&sE

Starch

6

2. %

All types of carbohvydrates
©) 65" S8 \TEeD

3. %

Fats

>4,

Question Number : 103 Question Id : 9683555753 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a cell digestive enzymes mostly occur in
$£308° 28 DoBIVA DK DT DG\EES"AW

Options :

Mitochondria

- 2085 sTog 03

Ribosomes

0e5° &’ Aooen
). %



Lysosomes

SUE So0en
3.¢

Plastids

4. % T35

Question Number : 104 Question Id : 9683555754 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Antibodies are

DB dzren

Options :

Antibiotics

wceﬁmmﬁ%

Anticancerous drugs

5“55‘.135 DFGE Socen

Foreign bodies 1n a cell

26565° DB 3borew

Molecules synthesized in response to foreign structures

DB T ETOS) DIRVYOGIT EDPHE VoFEs BOLIGOW
4.



Question Number : 105 Question Id : 9683555755 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

st :
31" May is
31 & Bex

Options :

Red cross day

, 06 TR B

No tobacco day

T st G

2. ¥

World health day

Do e8] BBy
3. % :

No drugs day

4 % I BR) @

Question Number : 106 Question Id : 9683555756 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Stramonium ( drug ) 1s the extract of
A Aoe (o) Wws), FCo

Options:

1.4



Ocimum

oy s
Datura
loda- Ve

2. %

Rawwolfia

d‘*e&h@)aﬁr

Asphodelus

wﬁﬁﬁaui:
4. % -

Question Number : 107 Question Id : 9683555757 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Tetracycline 1s extracted from

GRS Aol VSBotiecIBIed

Options:

Sﬁ'?pfﬂ?ﬂ_‘l 'CES admaosus

PTDD TATHD
1% 88

Streptomyvces aurofaciens

JITDOVD BEDIDDY
2. £27



Streptomyces scolens

ISIPSUS RN P3SN
3 % £ e *— J o

Bacillus lichenformis

CSIPSEIENE LIRS
4. %

Question Number : 108 Question Id : 9683555758 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Citric acid 1s produced by
DOE AIrDE GBS BOLWEDBS

Options :

Rhizopus

o T 3
1. % %

Mucor

Aspergillus

@ﬁbﬁﬁaﬁ
3. v 2

Saccharomyvces

4 % TTODD



Question Number : 109 Question Id : 9683555759 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Central rice research institute 1s located at

Bogh 5B VBTG Vo W) & Eobd

Options :
Oddisha

2
W

Cuttak

{1
2. ¢

Bhopal

BDS
3. %

Shimla

Question Number : 110 Question Id : 9683555760 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Albugo candida causes

Bmaﬁﬁs“oiﬁ?dﬁm;ﬁj@d o0&

Options :



Wilt of Cajanus cajan

SR TR0 msb Ejeg

Hypertrophy of mustard

BTPOO AIE), TOTD
2. ¢

Leaf curl of papaya

. BS“?.J“DDJJ aIwg), 8 6

Black rust of crucifers

. eS ::sg“ésbg:m;mﬁb

Question Number : 111 Question Id : 9683555761 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Bioreactor is

£0037" 603?5}6

Options :

Fermentation tank

1 Seag DSOD (oS

Culture of bacteria

. ean?g%aojr SO
2. g



Hybridoma

E S
3. %

Culture for synthesis of new chemicals

§& S LTV SITS” VoR A
4. ®

Question Number : 112 Question Id : 9683555762 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Agar is obtained from

29030 Aol ToGeacIdded
Options :

Bacteria

e SBa3T
1.8 ©

Blue green algae

- Qoo SRV FOWo

Red algae

DAY B0

Brown algae

TS 3dwo
4, %



Question Number : 113 Question Id : 9683555763 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

NME. 1s free from hazards as it does not use

NMR &3 Aotidotins DArTre Aoc. &tldo

Options :

Magnetic radiations

@Oi)ﬁ"zjoe:’? DdcETren

Tonizing radiations

03T D20 DSdETe

Magnetic radiations and Iomizing radiations

©oHT0E DO o@rILoN DEBre
3. % )

Electromagnetic radiations

L Smécﬁajaﬁ‘%oe:’s DiseTren

Question Number : 114 Question Id : 9683555764 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Chilka lake in Odisha i1s famous for

WETS Q Qe DO ;::i:cg Bobvol

Options:



Birds

1 & PERD

Lion

Rhino

) mm,}ﬁﬂ
3. W g}

Question Number : 115 Question Id : 9683555765 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Simog is

TS0t Eodd

Options :

Smoke

| w WS TG

Moistened air gases

5 % SR TPOI0 TTCINRHW



Other name for dust storm

G0} SOTTRL) RSG DG

Smoke and fog

T 200030 Aot
4.

Question Number : 116 Question Id : 9683555766 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
BOD stands for

BOD e9083
Options :

Biotic oxygen demand

B3 EIS ejénjaaf:z Poe s il
1. %

Biochemical organic decay

. e)G3Trera e e_e?ﬁé as

Biological organism death

3 % eIGirerase GE‘DB&G folx ]

Biochemical oxygen demand

P LIAITESD Uéja.& CATol



Question Number : 117 Question Id : 9683555767 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Minamata disease is due to the pollution of
QODDET T(B STL[e DY HWed
Options :

Organic waste into drinking water

Do ST THALS"S
1. % -

Oil spill in water

DEe5° Ard Dodtio
2. %

Industrial waste mercury into fishing water

- 22300 DIS® FBFTNE DT FE6R0

Arsenic into atmosphere

TTrS0t0e5 S e50J8
W

Question Number : 118 Question Id : 9683555768 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Greenhouse effect 1s due to the increased concentration of

A 7 DOAD DTS SO DTS Gobtod

Options :



{:10-.}
1.¢ =

No
o 2

Question Number : 119 Question Id : 9683555769 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The rate of transpiration increases with the decrease of
S3coS ErADLBRD Bew DAMSE
Options:

Temperature

o) (3
1. % o

High wind velocity

S 9 Defo
2. %

Light

STod
3 %

Atmospheric pressure

TEI00 HESoe
4. &



Question Number : 120 Question Id : 9683555770 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The elements which occur in nucleic acid macromolecule are

Fﬁﬁéémg QSrmE Ao €085 &0l SUTPUSTeD

Options :
C.HO,N. 8§

1. %

, x GO,N, 8

GBS

CH O.N P
4, &

Question Number : 121 Question Id : 9683555771 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The enzyme Nitrogenase is a

RIS 9D JoB

Options :

Cu-Fe protein

Cu-Fe '&9

1. %



N1 — Fe protein

Ni - Fe &S

Mo — Fe protein

Mo — Fe &3S
3. ¢

Ni — Cu protein

Ni - Cu '8

4, #

Question Number : 122 Question Id : 9683555772 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In C3 plants first stable product of photosvnthesis during dark reaction 1s
bimsbwbsﬁ DS 22005085 §cic-aaaa§ RoG3rASa% a0E); 20068 fgd@é
E@D@

Options :
1. ¢ PGA

, % PGAL

RUBP

Oxalo acetic acid

558" DS 5o
4. % -

Question Number : 123 Question Id : 9683555773 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Number of oxygen molecules required for complete breakdown of one glucose

molecule 1s
28 (788 erd) D), 270 ::@g::n;né DIV SR VYL Do)
Options :

Zero

Ty

1. %

Three
SATPED

Six

33D

thirty eight

2002 ADE
4, %

Question Number : 124 Question Id : 9683555774 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Chemical formula of ethylene 1s

289D g, SIaHd Ardo
Options :

C-,Hg

1. %



Question Number : 125 Question Id : 9683555775 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

1:2:1 ratio with the pink flowers in the F2 generation indicate the phenomenon of

F, 8506° therd) Hijred® 1:2:1 D)8 ¥ ¢§)inRdird) $rDoiHiis
y. ¥ — T & o [=9

Options :
Dominance
B&rﬁ@éa
1. %

Co dominance

A Ec’f_‘a‘i}?}éﬂ
2. ®

Incomplete dominance
' - -
@@c@g Gﬁbﬁ@éc
3. ¢

Segregation

4 % D60 BosdE

Question Number : 126 Question Id : 9683555776 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In sickle cell anaemia glutamic acid is replaced by valine. Which one of the following

triplets codes for valine?

P36 28 A’ (PPl airdd TS T 38 Bobucidid. TS §o
S 0" D G EGen ey aw?

Options:
GGG
E

AAG
GAA
*®

GUG

Question Number : 127 Question Id : 9683555777 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Klienfelter’s syndrome has
$C0DDYE VoE D God

Options :

1 ¢ 44 + XXY

44+ XO
2. #

A5 -HXY



4w 66+XXY

Question Number : 128 Question Id : 9683555778 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Longest phase of meiosis 1s
QOOITVD WG], TERD 5%

Options :

Prophase — I

1.J§ﬁ¢«a-1

Prophase —II

oD —II
2. %

Metaphase —I

20D I
3. %

Metaphase —II

e I
4, %

Question Number : 129 Question Id : 9683555779 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is living fossil?

30d T35 HED FUro AA?
Options :

Ginkgo

Saccharomyces

- F5E 2DV

Spirogvra

OO 200°
4. %

&

Question Number : 130 Question Id : 9683555780 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An event unique to Angiosperms is
Oﬁfuﬁﬂf?&g&éjﬂﬁj @@1(}5@355 ESTFO SRS

Options :

Double fertilization

cewed HudEtno
1.«



Sexual reproduction

Tohs 2HIIND

Pollination

DT ?Jc::::rdbo

Spore formation

4% Drodo 5)6;}5:‘,&.}1:

Question Number : 131 Question Id : 9683555781 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

PIlEllll]EltDPth’ES are I}I'ESEIH ill
a:ﬂsmeﬁﬁﬁﬁﬁﬁ &) O

Options :

Mangroves

G G0
1.4

Xerophytes

E-&E;‘Eﬁﬁ
2. % ~

Hydrophytes

EpeS

3. % -

FYy



Lithophytes

& ?:_JEE\.I

ot

Question Number : 132 Question Id : 9683555782 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Verticellaster inflorescence occurs in

DBRYTRE YA AW DEEISVE

2

Options :

Solanaceae

edd

Cruciferae

5 % SIP000

Fabaceae

Labiatae

4 e i

Question Number : 133 Question Id : 9683555783 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



. Perisperm 1s the
bﬁhﬁﬁéﬁofﬁ
Options :

Remnant of endosperm

. ;}of:a:]s& chg), Fao

Persistent nucellus

Palel-Txle] m523u5
‘&f#’? o3

Peripheral part of endosperm

Dotid6), CB0E), HBSAD &rclo
3. %

Disintegrated secondary nucleus

4 x D) 20D BB So@So



